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Subject : Mathematics
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Time : 3 hours ] [ Maximum Marks : 75
Tz : aft vy e it
Note : Attempt all questions.
TTE YUT T AMavTHAT ¢ |
Graph paper is required.
qmar= T (7))  FAFA F FAM i SAR AL
General Instructions : Use of calculator is not permitted.

(j)) W w1 ¥ 97 Gve § 1 WS (1) § Sglawedd ¥, @
(%) ¥ fom =Rl #t g aon @ve (W) § Tovewe e e §)
YeF Y9 W 1 3w Aifea ¥
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true /false are given. Each question carries 1 mark.

(iif) 99 FTE 2 A 6 qF AAAYSTIA T § | W&H W\ W 2 I3F
amafea €1
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.
S-4A+ (Graph) P.T.O.
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(iv) ¥ wuiw 7 / 10 7 SREgETa Y9 § | T 59 W 3 o
rEfed &)
Question Nos. 7 to 10 are very short answer type questions,
Each question carries 3 marks.

(v) W w11 @ 14 7% wgEda v §) vAF v F s
e ¥ 1 v W w4 ot s ¥
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) W AT 15 T 16 Tgwig wvq ¥ | 3@ yva o SAialis feseg
¥ 7T T W S 3t it ¥
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.

(vii) W FHF 17 T 18 TiIwia v § | 7l 7 # iaie s
£ | Y% U W 6 i aated € )

Question Nos.17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.

wi-1  (Wus-3t) TE fawen g fata

[1x5=5)

(Part-A) Choose and write the correct option :

() fag (-3, 5) frw wgatar H @2
(37) wuw agt
() fidia =quta

(@) Jra =gule
() =gd Jqul

Point (-3, 5) will li

(@
)
()
@)

e in which quadrant?

First quadrant
Second quadrant
Third quadrant
Fourth quadrant -
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¢ 0 () 5

(/) 10 (0 s

The arithmetic meap of 6 and 4 is -

(@ 0 ®) s

() 10 @ -
(iii) Wﬂﬁ?ﬂﬂaﬁﬁmm%:

(30 6 (/) 8

(?) 12 @ 16

The number of vertices in a cuboid is :

(@) 6 ) 8

© 12 @ 16
(iv) sin30° x cosec30° &1 HIF BN |

(30 1 (@) 0

@ - @ 2

Value of sin30° x cosec30° will be :

@ 1 () 0

© 3 @ 2
) WRE2-9)FFEHE:

(2) 3,3 (@ 3,3

(@ 3,-3 (D 0,3

Zeros of polynomial (x2 - 9) are :

(@ 3,3 b -3,-3

© 3,-3 @ 0,3

S—4A;|' P.T.O.
https://www.cgboardonline.com



(4]

WA-1 (WUE-w) fisa el W i S [1x5=5]
(Part-B) Fill in the blanks :
() 9 tan® =17, & 6 F1 9 —— T
If tan8 = 1, then the value of 6 will be .
(i) afz wafy S0 @r § < 1 T B: 9 SR | & o 8, d@
R e —— g
If the interest in Fixed Deposit Account is calculated on six
months basis, then the rate will be as a percentage
(iif) afR16:4:x B, @ x FAA —— T
If 16 : 4 : x, then the value of x will be :
(iv) T9 % &% QA Sal W S T T SHa H —— FA g
The perpendicular from the center of the circle to the chord
makes the chord .
(v) 90 % = ¥ il W g T e W —— a6
Tangents at the end points of a diameter are mutually .
Ue-1  (W@US-W) U Al 3 fafan [ 1x5=5)
(Part-C) Write True or False :
() y-31e R P et fag 1 x Fdies Y @i &1
The x coordinate of any point on y-axis is zero.
(i) af < iy watmew €, @ 3 T Tred €1 ¥
If two triangles are congruents, then they are always similar,
S4A+ -
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(iif) tan(90° - 0) T WH cot § g B 1

The value of tan(90° - 8) is cot 6.

(iv) TS o0 T = ) o &) s 8, 3@ e wed €

The amount on which interest is calculated, is called principal amount.

(v) o e 3 af ﬂ:j—'x"—l & @ i s wet 9w B
C

a 2 2

a_bh_a, : :
=— 3 —L in the system of equations, then we will geta
a b o

unique solution.

k ¥ firg wm ¥ foe wite % o arafas wd e g, 9
fo? +4x + 1=0? ' [2]

For what value of k will roots of the equation be real and equal, if
o2 +4x+ 1 =07

firfefaa aifel @t wifeaesn I T :
25, 23, 45, 40, 42, 38, 32 [2]

Find the median of the following data :

25, 23, 45, 40, 42, 38, 32

e i #1 g(x), p(x) F T TOFETS 8, A
g(x)=x-3, pix)=x3 -2 +x+6 2]

Check whether g(x) is a factor of plx), if gx) = x - 3,
p(x)=x3»4x2+x+6

S-4A+
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wA-5 7@ fag A e (2, 2) F <t 2 gt I s [2)

Find the distance from the origin to the point (2, 2).

WHT-6 4 tan70° x tan20° %7 HE A KA [2]

Find the value of 4 tan70° x tan20°.

WA-7 15 Wl SR TR A9 F THYS T YA 660 77 AW, T, 6 9 F

MR &1 Firom w9 $ifew [3]

The curved surface area of a cylinder is 660 sq. cm and height is

15 cm, then find the radius of the base of the cylinder.

UT-8  W9H 9 Wigha wEmed & siwa 3w #ife [3]

Find the average of the first 9 natural numbers.

WyR-9 T FHRHEO X2+ 2x -3 =0 ﬁwmmﬁmmm| [3]
'Find the sum and product of the roots in the quadratic equation
2 4+2x-3=0
WA-10 A (x+5):45::1:5 &, A x % AW @ Q) (3]

If (x+5):45::1:5, then find the value of x.

S-4A+
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=1 "ot =1 sger T w9

AR 0-10

10-20

20-30

30-40

40-50

gt 4

10

16

12

Find the mode of the following table :

Class-interval

0-10

10-20

20-30

30-40

40-50

Frequency

4

10

16

12

T
OR

1= SiTSl 1 GHRR A1 919 HA :

Wt 30

35

38

40

42

45

48

QIOEHAT 6

5

6

Find the arithmetic mean of the following data :

Marks obtained

30

35

38

40

42

45

48

Frequency

6

5

6

8

HAYT 300 9 W 5% AMMF A B AV 1,2,3,4 9 5 a9 & fag
TR =41 forsy |t § wefifa € -

wa(ad )

1

WY & ( Hqa o )

15

30

45

60

75

94§ HIYURY =7 & 9 g Eifaa |

The interests on deposit Rs. 300 at 5% rate of interest for 1,2,3,4

and 5 years are shown in the following table :

Time (in year)

0 |

2

3

Simple interest (in Rs.)

0 15

30

45

60

75

Draw the graph between time and simple interest,

[4]

[4]
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We-14

(8]
arerar

OR
e PA = PB R 7w 4 otk B ¥ Fadwiss waw: (2,0) @ (-2, 4) & a0
F y-318 R foom 81, 79 P& fdwiss 3@ sifae

If PA = PB and co-ordinates of points A and B are (2, 0) and
(=2, 4) respectively and P lies on the y-axis, then find the co-ordinates

of point P.

fas FI o o oo firge & sl @ i 3 A yonsii & ot & 4
& e g ¥ - [4]
Prove that the square of hypotenuse of a right-angled triangle is equal

to the sum of squares of other remaining two sides.

Haqr
OR

fag Fifag for awia 9ge & Tor@ ol =1 e 180° Bar #)

Prove that the sum of opposite angles of a cyclic quadrilateral

is 180°.

TS M 1 A Fid D1, Foreen goig 8awa 154 =f Q). 7 [4]

Calculate the volume of a sphere having surface area of 154 sq. cm.

ST
OR

TF aoF F YR F uffy 88 TR, o = 10 o ¥ qem W
G 91 RIIg |

The circumference of base of a cylinder is 88 cm and height is 10 cm.

Find the volume of the cylinder.

S-4A+
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15 T SR A 20,000 7. 1 7 ¥ forg wrafy o @A F S ) A

S HI 6% i & 7w = : wwdt i g &, A Fra faf
v, e el st e gt 2
A person deposited Rs. 20,000 for one year in a Fixed Deposit

Account. If the rate of interest is 6% per annum and the interest is

compounded every six months, then what amount will he get after

due date?
Hear
OR

& A 3 150 . wfirre & e @ 2 94 a% el S @i 3 ST
%iaﬁmaﬁaS%m@,ﬁﬁzaﬁmmﬁ eI 9T g
A person deposits Rs. 150 per month in a Recurring Deposit Account

for 2 years. Find the amount he will get at the time of maturity at the

rate of 5% per annum. https://www.cgboardonline.com

6 W gmaﬁ@mgﬁaaa;afa:qaaﬂmaaﬁmm%

(3]

[5]

Uy 1-16
vz o} faf@a|
Construct the incircle of an equilateral triangle of side 6 cm. Write
the steps of construction also.
arear
OR
ﬁgwscawﬁfmqaaﬂmaﬁmﬁahhsm, BC=5%,
3R 4A3C=60°!:|ta=nawz ot fafaa
Construct a circumcircle for triangle ABC where AB = 8 cm,
BC=5cmand LABC= 60°. Write the steps of construction also.
e ——— _______________...-—-—-—_
$4A+
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WA-17 k% 69 WM ¥ forg weftacor e ko — Sy =2 3R 6x + 2y =7 F1—

() e e a
(i) = Remad? (6]

For what value of &, system of equations kx — 5y = 2 and 6x + 2y =7

has—
()  unique solution;

(1) no solution?

OR

A frelt TR A F pal W g 3 gAl W= p @, @ fag wifT
p+gEl I

If p' term is ¢ and ¢! term is p of an arithmetic progression, then

prove that (p + g) term is zero.

uy-18 fag Fifsu e

1 -cosB

= cosec 0 — cot
1+ cos® [6]
Prove that
I —cosb = cosec 6 — cot 6
1+ cos6

C_A4A+ _ —
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Srerar
OR
THIHO ¥ Fifone .
cos cos®
1—sin® 1+sing
Solve the equation :
cosf cosf
1—sin@ 1+sinb
—_—
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